PreAP: Due: Thurs., Mar 2 (Assigned: Tues., Feb 28) Harmonic Review 2
— Honors Only

1. Use the standing wave at the right to answer the following. . .
A. How many wavelengths is this harmonic? 4 Standing Wave (Harmonics)
B. Ifthis was a sound wave, find its frequency.
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C. Can we hear it’s frequency? = 1
D. Is it a high or low note? @ \
E. Amplitude = E. Period = § O \/ \/ \ \/ \/ \/ \/ \/
F. Where is its equilibrium position? S 1
G. Where will it come to rest? 2
H. In order to start the wave moving you must d it. a -2
I. Find the fundamental for this space. (Can be done two ways; one 3|
utilizes the size of the space and that it is a sound wave.)
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J. Find the wavelength of the fundamental for this space. Wavelength (m)
Wave 1
2. Use the graph at the side to answer the following. 5
A. Find its amplitude. 4
B. Where will it come to rest. £ 3
C. Find its wavelength. = 2
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D. If a sound wave, find its frequency. > -2 l T [ T\ ]
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E. How long would it take to complete 150 cycles? -5
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3. Transverse or Longitudinal waves?
A.  Sound waves F. The oscillation is parallel to the wave front.
B. _ The slinky when pushed. G. The oscillations move up and down,
C. _ The slinky when pulled side-to-side. the wave moves to the right.
D.  Earthquakes H. The oscillations move up and down: the wave
E.  The oscillation is perpendicular to the wave front. moves down.

4. On a space mission to an asteroid, astronauts find a mineral of some interest.
NASA scientist, of course, want to know what it is.
A. The volume of the rock can be found be submerging it in water. This is known as the:
method. The columns at the right show before and after the rock is
submerged. Find the volume of the rock (in mL)

B. The mass of the rock can be found using a spring with a known spring constant:
k=65 N/m. When attached to the rock gives the spring a period of 1.75 seconds.
Find its mass.

C. Find the density of the rock.
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You take a pendulum with a known length and period to a different planet and the
period is longer. What do you know about the planet’s gravity?

Twice as loud as 50 dB =

If the spring at the right moves 12 cm from A to C,
A. What is its amplitude?
B. How far will it move in 6 cycles?

A 350 g object stretches a spring 28 cm. Find its spring constant.

If the atom at the right is a neutral atom answer the following.
Is it an ion?

How many protons does it have?

How many valence electrons does it have?

What element is it?

Will it tend to gain or lose electrons?

Will it become positive or negative?

What is its oxidation number?

Metal or non-metal?

1. What kind of compounds will it make?
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An element has 2 complete shells of electrons and 3 electrons in the third shell.
What element is it?

If v = -3msin((n/2)t), answer the following:

A. Find the displacement equation. B. Find the acceleration equation.

C. What will its velocity be at t = 6 seconds?

D. Which direction is it moving?

Given x = 8cos(2mxt),
A. Give the velocity equation:

B. Give the acceleration equation:
C. Xpax = D. Vpax = E. apx =
F.T= G.f=

H. When will it pass through its equilibrium position?

I. How fast is it going at the equilibrium equation?

J. If the spring has a 300 g object attached to it, find its spring constant.

There are study helps available online.

Oscillating Spring

M

For Meiosis, Mitosis, etc:  Go to Biology Study Helps/ DNA/ Types of Cell Division and Resulting Cells

I’ll see if I can get on online for reading the solubility graphs. There’s a basic one:

Chemistry study helps/ Solutions, Acids and Bases




